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ol ASH=E SEMY
20,000,000 *2IH 2~ x50% 20,000
X E435 Il XA 1,020,000 1,000,000 20,000
402 QI2E X201 ™ 1,020,000 1,000,000 20,000
01 QIZEXHEAIS 2B (KHRITHE) 1,020,000 1,000,000 20,000
OAZ3X E43t K&
3,058, 100& *327ha*50% 500,000
OENE E43 XA
4,411,760 *34ha*50% 75,000
05 S435 X2
2,978, 720 *47ha*x50% 70,000
o%x S43t N
4,500,0002 *80ha*50% 180,000
0gJ E4st XA
3,000, 000& *60ha*50% 90,000
oxlLi2 E43 N
1,607, 1403 *56ha*50% 45,000
0DF S43 X8
3,000,000 *30ha*50% 45,000
O0ts - 2t E43t XA
1,111, 1103 *27hax50% 15,000
ANERAW 24 IS =68 IS 28 Midls 2 80,000 0 80,000
A
= 40,000
= 40,000
402 QI X201 ™ 80,000 0 80,000
= 40,000
= 40,000
02 QIZEXHE2 A 2 Z (01 TH &) 80,000 0 80,000
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33 NAHtss s 54
gel: ASAE JlslEs EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAMERN =4 B =88 LIS 28
TPIEEENE
80,000,000 »10H 2 80,000
= 40,000
[Ea 40,000
D8 FU=el 938 ANEE E0/E ISSE 7 195,000 195,000
F(HEAY)
== 195,000
402 21+ K= 01 & 195,000 195,000
= 195,000
02 QI TH2AILEE (01X THE) 195,000 195,000
0O1nd FH=g0l 258 ANEE EOIE
WEsE 25 195,000
= 195,000
D& D] GOIHIZ ADEE ME 32 RE(HEAIY) 195,000 195,000
< 195,000
402 2IZtA=01d 195,000 195,000
=S 195,000
02 QI X2 AL EE(OIETHE) 195,000 195,000
014 EI| otolda ADIEE MEg32t 2
= 195,000
= 195,000
DZE THHH S2 THEHEEX A (& EHALS) 195,000 195,000
= 195,000
402 2I2F X201 & 195,000 195,000
< 195,000
02 QI A2 AL E R (0IHTHE) 195,000 195,000
OLNZSE THHH S2HY THHHEX =4 195,000
= 195,000
MEtA DNEBE ANF HAAE(HSAY) 195,000 195,000
= 195,000
402 2I2E X201 & 195,000 195,000
[ 195,000
02 QI X2 AL E R (01X THE) 195,000 195,000
OMEHA: NSE AT HAAISE 195,000
= 195,000
Ol&DI= tHE ME2It EMJ| F M= AlH(H 195,000 195,000
EAt)
= 195,000
402 QI2F X201 & 195,000 195,000
== 195,000
02 RIENZASEZ(0IETHR) 195,000 195,000
O0l&D|Z e MWE2IFt SMI| CHE At
Jl=s MY 195,000
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M NHIse =8 |4
o ASHE JlelEs (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| | & 195,000
ANEHa Y gt 1,027,455 1,098,606 AT1,151
Jl 291,283
= 184,300
o 561,872
ADIET [T 58 ARG (HUHXIEZAIE) 286,000 377,250 291,250
Jl 130,000
= 46,800
= 109,200
402 QI2F X201 & 286,000 377,250 AN91,250
Jl 130,000
< 46,800
= 109,200
02 QI X2 AL EE(OIHTHE) 286,000 377,250 A91,250
OADIEE ICT 58 A (NI 22
Al&) 52,000,000 *107H 2 #55% 286,000
Jl 130,000
[ 46,800
T 109,200
ADIEE ICT 858 SAAISE (AIZR0 Siist) 233,200 233,200 0
Jl 106,000
< 38,160
Ea 89,040
402 BIZtAH=01A 233,200 233,200 0
Jl 106,000
s 38,160
s 89,040
02 I EASEZ(0IETHR) 233,200 233,200 0
OADIEY ICT S5& AL (ALJN &
tiat) 42,400,000 * 101 2 +55% 233,200
Jl 106,000
=S 38,160
s 89,040
ADIEE ICT 858 SMAG(MNEES) 24,750 154,000 A129,250
Jl 11,250
=S 4,050
s 9,450
402 2I2F X201 & 24,750 154,000 A129,250
Jl 11,250
= 4,050
Ea 9,450
02 QI X2 AL E R (01X THE) 24,750 154,000 A129,250
OADIEY ICT 858 A (AMEEE)
22,500,000 #2IH A #55% 24,750
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Ofl &F2H

MEE
Ofl &k2h

S

M

11,250
4,050
9,450

DO THEHAIE XI2ALS

S

EUNGE

90,833
36,333
16,350
38,150

100,000

N9, 167

402 2I2F X201 &

S

M

90,833
36,333
16,350
38,150

100,000

N9, 167

02 RIENZAEEZ (01 THR)
JHE MHHAIE KI&AS

S

M H

90,833
90,833
36,333
16,350
38,150

100,000

N9, 167

SEEAS(HA) MESUs XIZAIY

S

A H

19,250
7,700
3,465
8,085

26,750

AT7,500

402 SIZERHE0| M

S

M H

19,250
7,700
3,465
8,085

26,750

AT7,500

>

02 QI 2AISEE X (0IETHR)
OSEXS(HA) ANESUSE XA
38,500, 0002 * 1H A #50%

S

M

19,250

19,250
7,700
3,465
8,085

26,750

AT7,500

XSO A MAAIL UG K2 A

M H

250,000
50,000
200,000

100,000

150,000

UMY

250,000
50,000
200,000

100,000

150,000

MO

250,000

250,000
50,000
200,000

100,000

150,000

in

72,500
14,500

40,000

32,500
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St AlETHA B et (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 58,000
307 gl2tol & 72,500 40,000 32,500
=S 14,500
s 58,000
02 QB AANSEER 72,500 40,000 32,500
ONLFRA ABUSBE XA
145,000,000 *50% 72,500
< 14,500
s 58,000
@) LUI=(FR)ES NI AL 8,000 17,000 29,000
= 1,600
Ea 6,400
307 @20l & 8,000 17,000 /9,000
=S 1,600
s 6,400
02 QB AANEER 8,000 17,000 29,000
0% RELIF(YR)ES NI
16,000,000 *50% 8,000
< 1,600
= 6,400
ANEA =832 XA 15,015 800 14,215
= 3,003
Ea 12,012
307 el2to| & 15,015 800 14,215
= 3,003
o 12,012
02 QB HANEEX 15,015 800 14,215
OANEMHa =HE XA
60,0602 x5002$ A+50% 15,015
[ 3,003
Ea 12,012
eI £X N2AA 15,000 16,000 21,000
= 3,000
[Ea 12,000
402 2IZtA=01d 15,000 16,000 21,000
= 3,000
o 12,000
02 QI XHE AL E R (01X THE) 15,000 16,000 A1,000
O&TIIHI| Xl XA
15,000, 0002 x2H 2 %50% 15,000
< 3,000
[Ea 12,000
AMER0 AXZoHZ2 M KIRAAS 5,000 13,500 28,500
= 1,000
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AHotset =8 54
ANEa Y e EER=E)
SA - B SRIBH) - MRAR - BAS A HIDEZ
o 4,000
307 212t01 & 5,000 13,500 /8,500
=S 1,000
s 4,000
02 QB AANSEER 5,000 13,500 A8,500
OAIZ20 AXTHB2HM K2 A
500,000 *207H 2*50% 5,000
& 1,000
s 4,000
ANER0 SLIHSH KI2AS 7,907 0 7,907
= 2,372
o 5,635
307 212t01 & 7,907 0 7,907
=S 2,372
s 5,535
02 QB AANEER 7,907 0 7,907
OAIZ20 ELHSH K2 A
1,581,400 *10hax50% 7,907
== 2,372
= 5,535
dHH2LIH(sL0I=) 81,908 83,000 1,092
Jl23tl(sgllsm) 81,908 83,000 1,092
HYFZ B 4,200 4,200 0
203 =4l 4,200 4,200 0
M FA2HHIFII 4,200 4,200 0
ORANRYYRETY
360,000&* 122 4,200
ot2Ed| 41,008 46,400 N5,392
201 Let=d] 41,008 46,400 A5,392
01 At2teltl 24,008 24,400 A3
Odgt+==H| 15,300
OsdY2s| A
100,000 8 *43] 3,200
O=AH| 9,000 x17H*34!x 122 5,508
2 S5=24g4l 17,000 22,000 /5,000
0=32= # HAl 2,000
OXtgrset] 5,000
OAIE2 &= X 10,000
O] 36,700 32,400 4,300
202 048l 36,700 32,400 4,300
01 SLHo4HI 36,700 32,400 4,300
O=3Udl 36,700




